
Step 2:

1. Insert (2) M8 clip nuts onto square holes  on
th e inner rocker panel. (I nsert M8 clip nut

onto the square hole and over the smaller
hole nex t to it).

2. Attach the bracke t t o th e inner rocker  panel

(the vehicle front side first) .
3.  Secure the  bracket on the rocker panel with

(1) M 8 hex bolt,(1) M8 lock washer, (1) M8

flat washer.

4. Secure the  bracket on the pinch weld with (1)
M8 hex  bolt,(1) M8 lock washer,(2) M8 flat

washers,(1) M8 he x nut.

Before Installation:

Rea d this instructio n careful l y before startin g instal lat ion.
Proper tools will improve the quality of installation an d reduc e the time
required.
If mi ssin g part s o r any damage found, please tak e a pictur e and contact us.
Professional installation would be highly recommended.

Periodic check to ensure all mounting hardwar e remains secur e and tight.

Step 1:

1. Locat e (2) mounting posi tions eac h side.
2. Remove the factory tape and clean the dirt around mounting positions.

Step 3:

1. In same mounting position, attach another
bracket to the mounting hole next to the

first bracket.
2. Secure the  bracket on the rocker panel with

(1) M8 hex  bolt,(1) M8 lock washer,(1) M8

flat washer.

3. Secure the  bracket on thepinch weld with  (1)
M8 hex bolt,(1) M8 lock washer,(2) M8 flat

washers,(1) M8 he x nut.

4.Repeat the step 2 and  th e step 3 to install al l

brackets .

2—— 1—




